Semantics and Pragmatics
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1. Semantics is the technical term used to refer to:
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a. The reason behind meaning

b. The study of meaning.

c. The study of formation
d. The reason behind formation

. The term "Semantics" was used to refer not to meaning only
but to:

a. lts development

b. Its formation

c. Its category

d. All true

. “Historical semantics” is a term that is being used now:
a. When we look at the meaning only.

b. When we look at the development of meaning only.

c. When we look at the formation only.

d. When we look at both the meaning and the development.

. The term "Semantic" earliest use was in:
a. 1794

b. 1894

c. 1925

d. All false

. In 1900, a book called “Semantics: studies in the science of
meaning” was published. The term Semantics was treated in
this book:

a. The way people at that time understood semantics.

b. The way we use it today.




c. The wrong way which had to be abandoned.
d. Aand C

. The way we use the term "Semantics" today is when it refers
to:

a. The “science” of meaning.

b. The changes of meaning from a historical point of view.
c. Both true
d. All false

. When the word “semantics” is used to refer to the
manipulation <=3t of language, this happens in:

a. Formal language
b. Aggressive language

c. Popular lanquage

d. Political language
. Manipulation of language mostly occurs in:

a. Newspapers

b. History books

c. Encyclopedias

d. All false

. The reason behind manipulation is to:

a. Make things more appealing to public.

b. Mislead the public

c. Inform the public.

d. All true



10. To understand what meaning is, one has to keep in mind
whether we are talking about what speakers mean or:

a. What the listener might understand.

b. What words (or sentences)mean.

c. What the speaker wants to say.
d. Aand C

11. In utterance Meaning (Speaker Meaning), a word
meaning includes the secondary aspects of meaning,
especially those_related to:

a. Context.
b. Weather
c. Emotions
d. All false

12. There is a distinction between what would seem to be
the usual meaning of a word or a sentence, and the meaning it
has in certain specific circumstances or contexts. This is, in
fact, the difference between:

a. Semantics and Systematic

b. Semantics and Pragmatics.

c. Semantics and syntactics.
d. All false

13. The study of meaning that a sentence has in a particular
context in which it is uttered. This definition refers to:

a. Syntactic
b. Pragmatic
c. Semantic

d. Band C



14. When the word "mean" is used in the sense of “be
equivalent to”, we are looking at the meaning from the:

a. Pragmatic point

b. Semantic point

c. Both
d. Neither

2" lecture
@L’ﬁ\ SJJ.'AM\

Lalai puiliag cpillaie Gllligh ¢ Lo i 5l 4K Jiae (e Cuaall e
 Laa

e dua e 48l e 4l ) (alia a5 sense Lg)':bd\:gfji
ji Synonyms LK) pamy = el ¢ 4zl Jala LSP‘ Gl
. Antonyms SlalSl) (azy s Lgaadlis

Al claaSlall La U jlie ) 6 sl Of Gang

S S o (S Al g AN Lt ld YA iany B -1

D Jlhag ¢ g e e

| have an account at the bank.
We took the boat to the other bank of the river.

iy Gl el o GliS iy (6 jrall dia (e K e (adaty L2

Ll Jaal
Ul 8 LS (5 sre (e ST i o (S Jaall s -3

The chicken is ready to eat
soala dalaall of o ¢ 0S5 3 3als dalaall () Laaas) (i Jaiad
Lgalada Jsll



Lidle Cus e A8l e dulyn (aidis Reference dma yall (Ll
Loaall b palasVl ol el o W s dua ¢ 1 el sl xa
:JUi

My son is in the house.

Lol 8 L gadd o agd ol i () S o8 Jadl 1
RUESG BN SRR g R DYPYRIR-J | [F SN R ICPPS Y (CIVH 1) I SN DR TP BN |

T e OsSE Lel alas ol Wile reference s sall 4l 50 Jlae 8

This, 5&Y) claul Jic reference expression dsaall 3l -1
that.

Al pdy A BN Ladll (& b ) padd gy 4l aaall-2
Lhaaiall

rdma jall g (s Jhall G Ad LB

OB banall e i gl paedd e 3dile S8 Bale duma jall-]
Arlll aadfie (a3 (A sy (mas ) eal e B le (6 jaall Ll

A JalS et IS Gl Ly ¢ g me Al JalS e (g3t (S22
Az e
Qﬁjc&b\j L;}aw‘;‘sj (@Lﬁ:)@:ﬁalmost PN (NI WA
@l e 253 Y L) ¥ Lk s e L O Js8 of oSer da

1. When we talk about the meaning of words and other
expression, we have to consider:
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a. Sence

b. Reference
c. Since

d. Aand B

2. Sense and reference are two very ............. ways of talking
about the meaning of words and other expressions.

a. Similar
b. Distinct
c. Confusing
d. Aand B
3. Sense deals with the relationships:

a. inside the lanquage.

b. Outside the language.
c. Both inside and outside.
d. All true

4. Reference deals with the relationship between the language
and:

a. The environment
b. The world.

c. The dictionaries.
d. History

5. The sense of an expression is its place in a system of
semantic relationships with other expressions in the
language. An example of these relationships:

a. oppositeness of meaning (antonymy).

b. Sameness of meaning (synonymy).
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c. Both true
d. Both false

6. The same word-form has more than one sense.
a. This happens all the time.

b. This happens in some cases.

c. This never happens in English.
d. All false
7. Talking about "sense" applies:
a. Only to words.
b. Only to sentences or phrases
c. ToAandB
d. Neither A nor B
8. One sentence .......... have different senses.
a. Can
b. Can't
c. Must
d. All false
“I have an account at the bank.”
“We took the boat to the other bank of the river.”

9. In these examples, “bank” has a .................... in each
sentence.

a. Similar sense

b. Different sense

c. Confusing sense

d. Aand B



“Rupert took off his jacket.”
“Rupert took his jacket off.”

10. In the above two examples, we say that both of these
sentence have the .......... sense.

a. Confusing

b. Different
c. Same
d. All false
“The chicken is ready to eat.”
11. The above sentence is an example of:

a. A sentence has two different senses.

b. A sentence has two similar senses.
c. A sentence has only one sense.
d. All true

12. As we know that "Reference" deals with relationship
between the language and the world, we got to know the term
" referent” and the term:

a. "referring pronoun"

b. "referring expression"

c. "Referent expression”
d. Subject

13. The relation between areferring expression and a
referent is what we call:

a. Reference.
b. Utterance.

c. Occurrence.



14.

15.

16.

17.

d. All false

In the example:" This book", the word (This) is:
a. A referring expression
b. A referent
c. A phrase
d. All false
In the example:" This book", we can find that the same
referring expression .................... be used to refer to different
referents.
a. Can't
b. can, in some cases,
c. Must
d. All false
While a referent of an expression is often a thing or

person in the world, the sense of an expression:
a. The same
b. May be a thing
c. Must be a thing

d. Is not a thing at all.

Every meaningful expression has sense, ............. every
meaningful expression has reference.

a. but not
b. and
c. but also

d. all false
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.sequential relations

1. Paradigmatic relations are those into which a linguistic unit
enters through being ............ with other similar units. (vertical
relation)

a. Combined

b. Substitutable

c. ldentified
d. All false
2. Syntagmatic relations applies to relations holding between
elements that are ........... with each other.
a. Combined

b. Substitutable

c. ldentified
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d. All false

3. Words in a language can be grouped and classified into
different ............ fields.

a. Paradigmatic
b. Semantic
c. Syntactic
d. Band C

4. A semantic field contains a group of words which are related
in their......

a. Pronunciation
b. Meaning
c. Construction
d. All false
5. Aword can be partof ..................... semantic field.
a. One
b. Main

c. More than one

d. All false

6. Semantic fields can be useful to compare a single language
at:

a. Two different time periods.

b. A one specific time period.
c. Three different time periods.
d. All false

7. The items within a semantic field are:
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a. Compatible
b. Incompatible
c. Unordered

d. Band C

Lecture 4
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1. Certain words tend to appear together or “keep company”.
This is called in semantics:
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a. Combination
b. dual
c. collocation
d. all false
2. In collocation, a word's meaning:
a. Is always the same.

b. Differs based on its company.

c. Never changes.
d. Aand C

3. There are some restriction on collocation. One of these
restrictions is when they are based wholly on the meaning of
the item. An example of this is:

a. Green, cow
b. Bite, teeth
c. Bark, dog
d. BandC

4, There are some restriction on collocation. One of these
restrictions is based on range when a word may be used with
a number of other words that have some semantic features in
common. An example of this is:

a. The rhododendron died

b. The rhododendron passed away
c. Aand B
d. Neither
5. In the following sentences, decide the write collocation:

He spoke English with a ........ French accent.



a. Average
b. Widespread

c. Pronounced

d. Chronic

. His new novel has met with ........ acclaim.
a. wholehearted

b. Pronounced

c. Great

d. Careless

. We need to make sure that there is enough ...
accommodation to house all the delegates.

a. Wholehearted
b. Careless

c. Yellow

d. Luxury

. Your company has had a long and fruitful
with mine.

a. Assignment
b. Association
c. Assessment

d. Assets

. We had to choose from a motley of
candidates.

a. Assortment
b. Assistance

c. Association
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d. assets

Lecture 5
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“politician” and “statesman”, “hide” and “conceal”,
“liberty” and “freedom”
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“mature”, for example, possible synonyms are
“adult”, “ripe” or “perfect”. For the verb “govern”,

III

we may suggest “direct”, “control” or “determine”.
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1. Synonymy is the relationship between two lexical units (words) that
have the ............. sense.

a. Same
b. Different
c. Either
d. Neither
2. We can say about synonymy that:
a. Perfect synonymy is easy to find.

b. Perfect synonymy is hard to find.
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c. There are no real synonymes.
d. BandC

3. There are at least five ways in which they can be seen to differ. One of
these ways is when some sets of synonyms belong to different dialects
of the language. An example of this is:

a. "Fall" and "Autumn"

b. "Man" and "Chap"
c. "Liberty" and "Freedom"
d. Non of the above mentioned.

4. One of the ways some words differ in is when they are used in
different styles. An example of this is:

a. "Liberty" and "Freedom"
b. "Fall" and "Autumn"

c. "Man" and "Chap"

d. Non of the above mentioned.

5. One of the ways some words differ in is when words may be said to
differ only in their emotive or evaluative meanings. An example of this
is:

Q

. "Liberty" and "Freedom"
b. “hide” and “conceal”

c. "Man" and "Chap"

d. AandB

6. One of the ways some words differ in is when some words are
collocationally restricted. In other words, they occur only in
conjunction with other words. An example of this is:

a. “addled” and “eggs”
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b. "Man" and "Chap"
c. "Fall" and "Autumn"
d. AandB

7. One of the ways some words differ in is when many words are close in
meaning, or that their meanings overlap. There is a loose sense of
synonymy between them.

a. "Liberty" and "Freedom"
b. “mature” and "adult"

c. "govern" and "determine"
d. BandC

8. Antonymy is the relationship between two lexical units (words) that
have the. ......... sense.

a. Same
b. exact
C. opposite
d. all false

9. There are three different types of antonymy. One of these types is
binary antonymy (complementarity). This happens when words with
opposite meaning comes in pairs. An example of this is:

a. "parent" and "child"

b. "dead" and "alive"

c. "hot" and "cold"
d. All false

10.0ne of the three different types of antonymy is Converses (relational

opposites).This happens when a word describes a relationship

between two things (or people). At the same time, another word
22



describes the same relationship when the two things (or people) are
mentioned in the opposite order.. An example of this is:

a. "parent" and "child"

b. "dead" and "alive"
c. "hot" and "cold"
d. All false

11.0ne of the three different types of antonymy is the Gradable
antonyms. This happens when two words are at opposite ends of a
continuous scale of values. An example of this is:

a. "parent" and "child"
b. "dead" and "alive"

c. "hot" and "cold"

d. All false

12."permit" and "forbid" is an example of:
a. Gradable antonyms
b. Converses

c. binary antonymy (complementarity).

d. All false
13."deep" and "shallow" is an example of:

a. Gradable antonyms

b. Converses
c. binary antonymy (complementarity).
d. All false

14."joy" and "sorrow" is an an example of:
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. Gradable antonyms

Q

b. Converses

o

binary antonymy (complementarity).
d. All false

15."above" and "below" is an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).
d. All false

16."teacher" and "student" is an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).
d. All false

17."far" and "near" is an example of:

a. Gradable antonyms

b. Converses
c. binary antonymy (complementarity).

d. All false
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Lecture 6

1. Hyponymy is a sense relation between words in which the meaning of
one word is ......cceeeuneenne the meaning of the other.

a. Different to
b. Similar to
c. included in
d. Aand B

2. Hyponymy consists of an upper term which is called the ............... and
the “lower” term is called the hyponym.

. Superordinate

Q

b. Ordinate
c. Coordinate
d. Allfalse
3. If a superordinate term has more than one hyponym, we call them:
a. Co-superordinate

b. Co-hyponyms.

c. Co-ordiante
d. All false

4. A hyponym can itself be a superordinate of another term included in
its meaning. For example, “tulip” is a hyponym of “flower” and
“flower” is a hyponym of “plant”. In a case like this, we say that
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“flower” is ...ccceerreeerneecsennnns of “plant” and “tulip” is an immediate
hyponym of “flower”.

a. An immediate hyponym

b. Not an immediate hyponym
c. Both possible
d. All false
5. There ....cceeeeveerneenne a superordinate term for hyponyms in a language.
a. Is always

b. Is not always

c. Israrely

d. All false

6. Synonymy can be seen as a special case of hyponymy. For example,
synonyms like “mercury” and “quicksilver”, also illustrate the
hyponymy relationship because the meaning of one of them is
included in the other and vice versa. We call this special case of
hyponymy:

a. Symmetrical hyponymy

b. Semantic hyponymy
c. Lexical hyponymy
d. Allfalse

7. The rule of Symmetrical hyponymy is that if X is a hyponym of Y and Y
is a hyponym of X, then Xand Y are:

a. Antonyms
b. Hyponyms

c. Synonymous
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d. Obvious

8. Polysemy is a sense relation in which the same word has several very
..................... meanings (senses).

a. Closely related

b. Different
c. Distinctive
d. All false

9. Homonymy is a sense relation in which several words have the
............ shape, but different meanings that are far apart from each

a. Same

b. Different

c. Close

d. All false

10.1t is important to note that there are cases where homonyms differ in:

a. Writing

b. Speech

c. Either

d. Neither

11.“Lead” (metal) and “lead” (dog's lead) have the same spelling, but
pronounced differently. In this case we use:

a. Homography

b. Homophony
c. Both

d. Neither
27



12.“site” and “sight” are spelled differently but pronounced in the same
way. In this case we use:

a. Homography
b. Homophony
c. Both

d. Neither

13.What is the semantic relationship between (or among) the following
words? If it is antonymy, specify the type of antonymy.

14.couch : sofa
a. Polysemy
b. Synonymy
c. Antonymy
d. homonymy
15.vehicle : car, truck, SUV, bicycle
a. Polysemy
b. Synonymy
c. Antonymy
d. homonymy
16.Stop: go
a. Polysemy
b. Synonymy
c. Antonymy - Gradable

d. Antonymy —Relational

17.Strong: weak
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a. Polysemy
b. Synonymy

c. Antonymy - Gradable

d. Antonymy —Relational
18.Addition:edition

a. Homophones

b. Homographs

c. Synonyms

d. Antonyms
19.Flower: flour

a. Homographs

b. Synonyms

c. Antonyms

d. Homophones

20.He tears his books: The sad person tears easily.

a. Homographs

b. Synonyms
c. Antonyms
d. Homophones
Lecture 7

1. In componential analysis, the total meaning of a word is being
analyzed into ......cccceeeevceneercnnenee of meaning.

a. Only one component

b. A number of distinct components
29




c. Few similar components
d. All false

2. "There is an appropriate word in the language to label the
component”. This statement is:

a. Completely true
b. Completely wrong

c. Truein many cases

d. Wrong in many cases

3. The words:“come/go” and “bring/take” are examples show that
............ components are related to simple physical features.

a. No
b. notall
c. all
d. BandC

4. A particular characteristic of componential analysis is that it attempts
as far as possible to treat components in terms of .................. opposites.

a. Binary

b. Triple

c. Quaternary
d. Multiple

5. There is an advantage in such binary terms in that we can choose
......... only as the label_and distinguish this in terms of plusses and
minuses.

a. Two

b. Three
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c. Four
d. One
6. Using (+) and (-) and (% ) only where there is a clear.......
a. Distinction
b. Similarity
c. Both

d. Neither

Lecture 8
1. Views differ on the issue of universal semantic features.....
a. In one extreme
b. Between two extremes.

c. Among three extremes
d. Among seven extremes.
2. At one extreme, there is the Sapir-Whorf hypothesis, which.....

a. Suqggests that each language may “create” its own world and
S0 its own semantics.

b. Argued that components such as (male) and (female) are
found in all languages and that there are many others too,
e.g. the basic colors.

c. Both true
d. Neither

3. The universalist view suggests that there is a universal
inventory of semantic features (components). One of the three
claims that try to explain the relation between this inventory
and the actual features found in individual languages is the
strongest claim says that:
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d.

All languages make use of the whole inventory and so have
the same features.

Each language uses only some of the features in the total
inventory.

Only some features are universal, while the rest are
characteristic of individual languages.

All false.

4. One of the three claims that try to explain the relation between
this inventory and the actual features found in individual
languages is the weakest claim says that:

a.

d.

Only some features are universal, while the rest are
characteristic of individual lanquages.

All languages make use of the whole inventory and so have
the same features.

Each language uses only some of the features in the total
inventory.

All false.

5. To explain the phenomenon of the weakest claim, we have to
consider some factors. One of these factors is the physical
reality. An example of this is:

a.

b
C
d

Distinguishing colors.
Distinguishing animals.
Both

Neither

6. To explain the phenomenon of the weakest claim, we have to
consider some factors. One of these factors is the
psychological reality. An example of this is:

a.

b
C
d

Distinguishing colors.

Distinguishing animals.
Both
Neither

7. In distinguishing kinship terminology 4/_& 4w we have to
consider:

32



a. Only physical reality.

b. Only psychological reality.
c. Cultural reality

d. Aand B

8. In the case of color terminology, too, there may be three
factors at work. When we talk about the green of living plants,
the red of blood or the blue of the sky, we use:

a. The psychological features.

b. The physical features.

c. The cultural consideration.
d. All true

9. In addition to physical, psychological and cultural realities we
face in explaining the phenomenon of the universalist view,
we face:

a. The contact between societies.
b. The common language origin.
c. Both

d. Neither

Lecture 9
Classify the following pairs by choosing the best classification:
1. easy — difficult
a. binary antonyms
b. converses
c. gradable antonyms
2. good — bad

a. binary antonyms

b. converses

c. gradable antonyms

3. pass - fail
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a. binary antonyms

b. converses

c. gradable antonyms

. husband - wife

a. binary antonyms
b. converses

c. gradable antonyms
. parent — offspring

a. binary antonyms
b. converses

c. gradable antonyms
. legal —illegal

a. binary antonyms

b. converses
c. gradable antonyms
. present - absent

a. binary antonyms

b. converses

c. gradable antonyms
. deep — shallow

a. binary antonyms
b. converses

c. gradable antonyms

. above - below

a. binary antonyms
b. converses
c. gradable antonyms

clean — dirty
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11.

12.

13.

14.

15.

a. binary antonyms
b. converses

c. gradable antonyms

husband — wife

a. binary antonyms
b. converses
c. gradable antonyms
early — late
a. binary antonyms
b. converses

c. gradable antonyms

The word (BARK) when used for a dog vs. for a tree is
hyponym because:

a. They are not obviously related to each other in any way.

b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false

The word (FORK) when used for a road vs. for an
instrument for eating is polysemy because:

a. They are not obviously related to each other in any way.
b. They are obviously related to each other in any way.

c. They give the sense of similar meaning.

d. All false

The word (TAIL) when used for a coat vs. for an animal is
polysemy because:

a. They are not obviously related to each other in any way.

b. They are obviously related to each other in any way.
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c. They qgive the sense of similar meaning.
d. All false

16. The word (STEER) when used to guide vs. for a young
bull is hyponym because:

a. They are not obviously related to each other in any way.

b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false

Lecture 10
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Constatives Ually dauall Jaiad il ghia ;¥

Ity Ladiad (Ll ol lamia (560 08 Lo Ll Chnaial) Caay Ladie s il shaidll (e g 53l 138
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Performative &ia ga a8 (gghiall L

Lodiad ¢ Caan ) Jad (e 6 3 s Lailg ¢ Wadll ff daiall afde oSay W i shaidll (e ¢ 5l 12
e dpans Gl adl Uy sl Gli ¢ " iSin o Adud) o Cuand 281" aaaal
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Peformative verbs dua e Al Jlady)
O5Ss s Cafiall ) o jliadll dxpay dlea b aadiid Ladie Al JedY) Ll (o e
:JdY) oda (e Chaa e Al Aea ) o5 Lald caiall aaaidl sa g Jelall
promise, apologize, thank, approve, request, warn,
congratulate.. etc.

Jail) Liaadin ) Jaad ¢ "aS pmn e lasen oS80 UM Jgi (JUl Jpe e
kel Gl sa Jelill g Japadl ¢ jliaall dxpay g 5 (oS _S)

kel Gaatall Jelil) sasd e gL
sAgdul) ALy ) et

E.g. 1. “You are forbidden to leave this room.”

E.g. 2. “All passengers on flight number forty-seven are requested to
proceed to gate ten.”

E.g. 3. “We thank you for the compliment you have paid us.”
s e Al Jlady) aludi
1o 5 G JladY) o3 anids
-explicit dss ya :J Y
M Q) 8 LS Caanll ey Jad Ll 585 Ladie A
| order you to go.
Aimplicit 4ies ; JA
Sl JE 8 LS ¢ aaall o Jad Alaal) 3 508 Y Ladie A
Go.
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constative utterances, or implicit performatives.

Ll oSays (implicit performative) caas e JIy aca J2d Lol IS 13) Caaas sl 228

elly e Qi
1. “There is a car coming.”
2. “I shall be there.”

jA ol G B JEall By ¢ Al Bl (e a3l sa il IS 1) JsY) JEd) =
o Jladl Lyl glering 38 SIS ¢ jmplicit performative W Jzdll ¢ s p 38l 2l
PRI RN gﬂ\ Al ot Ugd ¢ a0l ‘;u\_a LAY o daE 3

:constative s performative ¢ @AY

ly Caay gl i g Bas a3 performative caas e JIal §shiall o Lgin 3 4l
oaal)

Bas 05 Y s adll o) il gaally agle oSal Qi) (3 shaiall Ll
rJial 13a 330 ST i gill
“| promise to repay you tomorrow.”

“John promised to repay me tomorrow.”
() s b Adiay s Gaaall Sy 48 (performative) s e s ke sa J5Y) JGa
Adar g ae ol has SNy ged

L;\_\r_})_wu\J\&U\Y\chl\}mjuM\)Sam\?c) SN JE 8@y e il e
e gl e e iy dhaatall oY adld aa

1. An utterance is any stretch of................. , by one person,
before and after which there is silence on the part of that
person.

a. Writing

38



b. Dialog
c. Talk
d. All false

2. An utterance is the use of a piece of language by a particular
speaker on a particular occasion. This piece of language
could be:

a. Aword
b. A sentence

c. Aphrase
d. All possible

3. It is an abstract string of words put together by the
grammatical rules of a language. This definition refers to:

a. A sentence
b. A phrase

c. An utterance
d. All true

4. A sentence exists abstractly in the mind of language
speakers .............. they say it or write it.

a. At the time
b. Before

c. After

d. Shortly after

5. When there is a situation where only one sentence_involved,
there is:

a. Only one utterance

b. No utterance at all
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c. Could be more than one utterance

d. All false

. One of the types of utterances is the constative utterance with
which the speaker describes something which.........

a. Must be true
b. Must be false

c. May be true or false.

d. May be only false

. One of the types of utterances is the performative utterance.
In this type of utterances, the uttering of the sentence is:

a. Part of an action.

b. Judged either false or true
c. Both
d. Neither

. The utterance in “l name this ship Discovery” is:
a. Constative

b. Performative

c. Alternative
d. All false

. The utterance in “Im trying to get this box open with a
screwdriver.” is:

a. Constative
b. Performative
c. Alternative
d. All false
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10. Generally, we can consider the utterance of a sentence
as (performative) when the verb is used:

a. In a positive simple present tense sentence.

b. With a 1st person singular subject

c. Both
d. Neither
11. There are a number of performative verbs including:
a. Promise
b. Apologize
c. Thank
d. All true
12. Performatives can be either explicit or implicit. An
explicit performative ................. a performative verb naming

the act. E.g. | order you to go.
a. Contains
b. Does not contain

c. Both possible

d. Neither
13. Performatives can be either explicit or implicit. An
implicit performative .............. contain a performative verb

naming the act. E.g. Go.
a. Contains

b. Does not contain

c. Both possible
d. Neither
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14. If we look at the example: “There is a car coming.”, we
can say it is an implicit performative if it is used:

a. To describe something.

b. To make a warning

c. Both possible
d. Neither

15. If we look at the example: “There is a car coming.”, we
can say it is an constative if it is used:

a. To describe something.

b. To make a warning
c. Both possible

d. neither

16. If we look at the example: “l shall be there.”, we can say
it is an implicit performative if it is used:

a. To describe something.
b. To make a warning

c. To make a promise

d. To threaten

17. The difference between performatives and constatives is
that a performative utterance performs some act and
simultaneously describes that act. On the other hand, a
constative utterance ............ perform the act.

a. Sometimes
b. All the time
c. Does not
d. All false

Lecture 11
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accusing, greeting, admitting, apologizing, challenging, complaining,
offering, congratulating, praising, giving permission, proposing
marriage, and others.

r AU JUal) Al

“I'm very grateful to you for all you have done”
Ladie Caaaiall 45 ey (o35 Sl ga Laal e Slad oa Caaiall (d JUal 12 b
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1. Speech act theory is a theory of ........... based on a book
called “How to Do Things with Words” by the Oxford
philosopher John L. Austin.

a. Semantics
b. Language
c. Translation

d. Interpretation

2. Speech act theory states that language is:
a. A mode of action
b. A way of conveying information
c. Both of the same level
d. B more than A

3. Speech acts include:
a. Locutionary
b. lllocutionary
c. Perlocutionary

d. All of the above mentioned.

4. Alocutionary act produces a/n .................. utterance.
a. Reasonable
b. Specific
c. Original
d. Understandable

5. Locutionary meaning includes:
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a. Sense

b.
C.
d.

Reference

Both

Neither

6. There is a concentration on the locutionary aspect of the

speech actin .......... utterances.
a. Performative
b. Constative
c. Both
d. Neither
7. One way to think about the illocutionary act is that
| in making the utterance in the first place.
a. Reflects the intention of the speaker.
b. Does not reflect the intention of the speaker.
c. Both possible
d. Neither

8. Saying: “I'm very grateful to you for all you have done”
performs the illocutionary act of:

a.
b.
C.
d.

Personality
Social complement

Thanking
All false

9. The perlocutionary act is carried out by a speaker making an
utterance to :

a. Produce an understandable utterance.

b.

Cause a certain effect on the hearer and others through that
utterance
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c. Convey the intention of the speaker.
d. All false

10. The part “per” in “perlocutionary” means:
Through

Before

Each

All false

o o o

11. The perlocution of an utterance is the causing of an
effect to happen......

a. With the intention of the speaker.

. Without the intention of the speaker.

b
c. Both possible
d

. Both wrong

12. When the act is intended by the speaker, it is:
A perlocutionary act

An illocutionary act

Both possible
All false

o o o p

13. Is not under the speaker’s full control, it is:

A perlocutionary act

An illocutionary act
Both possible
All false

o o o p

14. When the act is usually not evident until after the
utterance is made, it is:
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15.

a
b

. A perlocutionary act

. An illocutionary act

c. Both possible

16.

17.

18.

d. All false
The act of persuading someone, is perlocutionary,
because ............
a. The speaker cannot be sure of persuading the hearer.
b. The hearer can decide whether to be persuaded or not.
c. The speaker is sure of persuading the hearer.
d. Aand B
A locutionary act has:
a. Force
b. Meaning
c. Consequence
d. All true
An illocutionary act act has:
a. Force
b. Meaning
c. Consequence
d. All true
A perlocutionary act has:
a. Force
b. Meaning
c. Consequence
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d. All true

109. An utterance in a sentence can:

Only be Locutionary
Only be lllocutionary

Only be Perlocutionary

o o T ®

Have the three types in the same sentence.

20. In the example :“There is a car coming.”, we can find:
Only Locutionary
Only lllocutionary

Only Perlocutionary

o o T ®

The three types together

21. Your teacher says, "For class tomorrow, please read
pages twenty-one through forty-seven."

a. Locutionary
b. lllocutionary

c. Perlocutionary

d. All of the above mentioned.

22. You and a friend are talking about a television show that
you both watched the night before. You say, "what did you
think about Luke's reaction to Laura's news?"

a. Locutionary

b. lllocutionary

c. Perlocutionary
d. All of the above mentioned.

Lecture 12
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. An utterance has ............... illocution at the same time.
a. One illocution

b. More than one

c. Both possible

d. All false

. In the example: “Pass the salt.”, we can see:

a. One illocutionary act.

b. Two illocutionary acts.
c. Three illocutionary acts.
d. All false

. The illocutionary in the above sentence is:
a. The passing

b. The requesting

c. Both

d. Neither

. In the example: ‘Can you pass the salt?’, we can find.....
a. One illocutionary act.

b. Two illocutionary acts.

c. Three illocutionary acts.
d. All false

. In the example: ‘Can you pass the salt?’, the illocutionary act
IS:

a. Asking
b. Requesting
c. Passing
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d. Aand B

. In the example: “That will be 10 Riyals, please.”, we can find:
a. One illocutionary act.

b. Two illocutionary acts.

c. Three illocutionary acts.
d. All false

. In the example: “That will be 10 Riyals, please.”, the
illocutionary acts are requesting and:

a. Asking

b. Demanding
c. Inquiring
d. informing

. In examples with two illocutions, one of the illocutions is
called direct and the other is:

a. Semi-direct
b. Full direct
c. Indirect

d. All possible

. In example ‘Can you pass the salt?’, the direct illocutionary
act is:

a. An enquiry about the hearer’s ability to pass the salt.

b. Arequest that the hearer pass the salt.
c. Both possible
d. All false
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10. In the example: ‘That will be 10 Riyals, please.’, the
.................. is a request that he pays that price.

a. Direct illocution

b. Indirect illocution

c. There is no illocution at all.
d. All false

11. Utterances with two direct and indirect illocutions is
seen through the fact that:

a. A deliberately unhelpful reply can be given.

b. A deliberately helpful reply can be given.
c. Only helpful reply can be given.
d. Band C

12. lllocutionary acts can be classified into different
categories, depending on:

a. How the speaker conveys his meaning.
b. How the hearer reacts.

c. The type of interaction between the speaker and the hearer
that they perform.

d. All false.

13. One of the classes of illocutionary acts is directive act.
In this class, the illocutionary act essentially involves:

a. The hearer
b. The speaker
c. Both

d. Neither

14. The directive act involves the speaker to:

a. Get the hearer to behave in some required way.
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b. Get the hearer understand.
c. Make things clear.
d. All false

15. Ordering and suggesting are .............. acts.
a. Directive
b. Commisive
c. Non directive
d. All false

16. One of the classes of illocutionary acts is the
commissive act. This type essentially involves:

a. The hearer responding to behave in some required way.

b. The speaker committing himself to behave in some required
way.

c. Both the hearer and the speaker.

d. All false

17. Promising, swearing, or offering are:
Directive acts

Commisive acts

Both

Neither

o o o ®

18. In the example: ‘I would like some water.’ , there is a
(requesting). Therefore, the illocution belongs to:

a. Direct directive illocutions

b. Indirect directive illocution

c. Direct commissive illocution
d. Indirect commissive illocution
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19. In the example: ‘Stop.’, there is an (ordering). Therefore,
the illocution belongs to:

a. Direct directive illocutions

b. Indirect directive illocution
c. Direct commissive illocution

d. Indirect commissive illocution

20. In the example: ‘I swear I'll be there tomorrow.’ , there is
a (swearing). Therefore, the illocution belongs to:

a. Direct directive illocutions
b. Indirect directive illocution

c. Direct commissive illocution

d. Indirect commissive illocution

21. In the example: ‘I promise to be there promptly.’ , there
Is a (promising). Therefore, the illocution belongs to:

a. Direct directive illocutions
. Indirect directive illocution

b
c. Direct commissive illocution
d

. Indirect commissive illocution

22. In the example: . ‘Can I help you?’ , there is an (offering).
Therefore, the illocution belongs to:

a. Direct directive illocutions

b. Indirect directive illocution

c. Direct commissive illocution
d. Indirect commissive illocution

23. In the example: ‘Go away.’, there is an (ordering).
Therefore, the illocution belongs to:

a. Direct directive illocutions
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b. Indirect directive illocution
c. Direct commissive illocution

d. Indirect commissive illocution

24. In the example: . ‘If you need me at any time, just call.’,
there is an (offering). Therefore, the illocution belongs to:

a. Direct directive illocutions

b. Indirect directive illocution

c. Direct commissive illocution
d. Indirect commissive illocution

Lecture 13
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1. A: (standing by an obviously immobilized car) ‘My car has broken down’
B: ‘There is a garage round the corner’

Implicature: The garage is open and has a mechanic who might repair the car.
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2. A: ‘What subjects is Jack taking?’
B: ‘He’s not taking Linguistics’

Implicature: B does not know exactly which subjects Jack is taking.
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3. A: ‘Who was that man you were talking to?’

B: ‘That was my mother’s husband’

Implicature: Speaker B’s mother’s husband is not B’s father.
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4. A: ‘Is Betsy in?’

B: ‘Her light is on’

Implicature: Betsy’s light being on is usually a sign of whether she is in or not.
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Violating the maxim of relation (irrelevant)
violating the maxim of quantity (uninformative)

violating the maxim of manner (unclear)

violating the maxim of quality (untruthful )

(1) Policeman at the front door: ‘Is your father at home?’
Small boy (who knows that his father is at home):

‘Either my mother’s gone out shopping or she hasn’t.
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(2) Traffic policeman talking to a man parked in a no-parking zone: ‘Is this your
car, sir?’

Man (who owns the car): ‘No, this car is not mine.
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(3) Customer in a stationery shop: ‘Are pens in the first floor or the second floor
of the store?’

Shop girl (who knows pens are on the first floor):
‘You can find them on the floor that has notebooks.’
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(4) Mother: ‘Now tell me the truth. Who put the cat in the bathtub?’

Son (who knows who did it): ‘Someone put it there.
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1. One of the following DOES NOT apply to a normal
conversation:
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a. A speaker tries to give relatively specific answers to
guestions.

b. A speaker tries to avoid giving new information that the
hearer doesn’t already know.

c. A speaker tries to give information that is relevant to the topic
of conversation.

d. A speaker tries to give information in a way that is easy to
understand.

. “Be as helpful to your hearer as you can”. This statement
represents:

a. The Co-operative Principle

b. The Operative Principle.
c. The Co-understanding Principle.

d. The understanding Principle.

. This principle is applied by:
a. The speakers

b. The hearers

c. Both

d. Neither

. Being co-operative in conversation obviously involves:
a. Telling the truth.

b. Being co-operative.

c. Both together.

d. Neither

. Paul Grice developed four components of conversational
cooperativeness called:

a. The four Pauls.

b. The four Maxims
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c. The four components
d. All false

6. Truthfulness — do not say what you believe to be false. This is
the Maxim of:

a. Quantity
b. Manner

c. Quality

d. Relation

7. Relevance — keep to the topic of the conversation. This is the
Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation

8. Informativeness — tell the hearer just what he needs to know,
no more and no less. This is the Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation

9. Clarity — speak in a way that the hearer will understand. This
Is the Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation
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10. When one or more of the maxims seem to be violated
but the hearer assumes that the speaker make a relevant reply
to his question, this is called:

a. Implicature
b. Implication

c. Utterance

d. All false
11. Implicature is related to the method through which
speakers understand the......... of utterances.

a. Direct illocutions

b. Indirect illocutions

c. Direct locutions

d. Indirect locutions

12. In a case of implicature the hearer assumes that the
speakeris................. one of the conversational maxims.

a. Not violating

b. Violating
c. lgnoring
d. Not ignoring

13. If your spouse asks, "...have you seen my car keys?"
and your answer is:” Yes, it is on the table.”. Which maxim

does apply?
a. Quantity
b. Manner

c. Quality

d. Relation

14. If your spouse asks "How was your day?" and you say "I
hate tomatoes". Here the Maxim of ....... Is violated.
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Quantity
Manner
Quiality
Relation

o o o p

15. If your friend asks, "How does my new shirt look?" and
you respond "It's interesting,” you have broken Maxim

. Quantity

. Quality

a
b. Manner
Cc

d. Relation

o Ara el ALy VUi a5 ginall ALl (po Lgalef g de gite dilaa) Aliad ) 6 oY)
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1. There is no general agreement about the nature of meaning.

a. | agree
b. | disagree

c. | agree in a lot of cases.
d. Neither
2. The study of pragmatics.....

a. Depends on context

b. Is independent of context
c. Both
d. Neither

3. The referring expression “this book” proves that:
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a. Two different referring expressions can have the same
referent.

b. The same referring expression can be used to refer to
different referent.

c. Only singular referents are allowed.
d. All false
4. “Riyadh” and “ the capital of Saudi Arabia” prove that:

a. Two different referring expressions can have the same
referent.

b. The same referring expression can be used to refer to
different referent.

c. Only singular referents are allowed.
d. All false
5. The word “almost” is a proof that:
a. Every meaningful expression has sense.
b. Not every meaningful expression has reference.
c. Both
d. Neither

6. In “red door” and “green door”, the relation between “red”
and “green” is:

a. Syntagmatic relation

b. Paradigmatic relation

c. Syntactical relation
d. All false

7. The relation between “red” and “green” is paradigmatic
because:
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a. They are substitutable with other similar units.

b. They enter by their co-occurrence with other units.

C.

d.

Both

Neither

8. In “red door” and “green door”, the relation between red,
green and door is called:

9.

a.
b.
C.

d.

The

Syntagmatic relation

Paradigmatic relation
Syntactical relation
All false

relation between red, green and door is called

syntagmatic relation because:

a.

b.

11.

They are substitutable with other similar units.

They enter by their co-occurrence with other units.

Both

. Neither

When we look at a semantic field, we are concerned

........... relations between words.

Syntagmatic relation

Paradigmatic relation

Syntactical relation

. All false

The word “whale” can be a member of the following

semantic field:

a.

b.

Animals

Sea animals
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c. Domestic animals
d. Aandb

12. “It was on Saturday that she went there”. If we consider
the word “Monday” in this situation, we can say that:

a. Saturday and Monday are compatible

b. Saturday and Monday are incompatible

c. Both
d. Neither

13. In Mexican language, the word noise has around six
meanings. We call these six meanings:

a. Incompatible
b. Blurred

c. Mixture

d. Unordered

14. “This month is November and it is also March”. This
statement is wrong because:

a. The semantic field of months is unordered

b. The semantic field of months is ordered

c. The semantic field of months is blurred
d. The semantic field of months is mixture.

15. The items in the semantic field of measurement

a. Cannot have a natural order.

b. Can have a natural order.

c. Is blurred

d. All false
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16.

17.

18.

19.

20.

The relation between “ blond” and “hair” is:

a. Paradigmatic relation

b. Syntagmatic relation
c. There is no relation at all
d. All false
The relation between “ bite” and “teeth” is:
a. Syntagmatic relation

b. Paradigmatic relation

c. There is no relation at all
d. All false

The relation between “ bark” and “dog” is:
a. Syntagmatic relation

b. Paradigmatic relation

c. There is no relation at all
d. All false
It is unlikely to see the collocation “green cow” because:

a. It violates the restriction of meaning.

b. It violates the restriction of range.
c. It violates the restriction of both.
d. All false

It is fine to say “ abnormal weather” or “exceptional
weather” because:

a. It complies with the restriction of range.
b. It complies with the restriction of range and meaning.

c. It complies with the restriction of meaning.
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d. All false

21. The restriction that accounts for the unlikeliness of
collocation is called:

a. The restriction of meaning

b. The restriction of range

c. Either
d. Neither

22. The collocational restriction on “blond door” is
explained by:

a. Meaning
b. Range

c. Both

d. Neither

23. Which pair of the following synonyms belongs to
different dialect?

a. (gentleman and chap)

b. (Fall and Autumn)

c. (polititian and statesman)
d. (mature and adult)

24. Which pair of the following synonyms are used in
different styles?

a. (gentleman and chap)

b. (Fall and Autumn)
c. (politician and statesman)

d. (mature and adult)
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25. Which pair of the following synonyms has a loose sense
of synonymy?

a. (gentleman and chap)
b. (Fall and Autumn)
c. (politician and statesman)

d. (mature and adult)

26. Which synonyms differ only in their emotive evaluative
meaning?

a. (gentleman and chap)
b. (Fall and Autumn)

c. (politician and statesman)

d. (mature and adult)

27. Which synonyms differ only in their emotive evaluative
meaning?

a. (gentleman and chap)
b. (Fall and Autumn)

c. (hide and conceal)

d. (mature and adult)
28. Which synonyms belongs are collocationally restricted?
a. (rancid and bacon)
b. (addled and brain)
c. (addled and egg)
d. All true

29. In the case of loose sense of synonymy, we can suggest
one of the following as synonym for the word “govern”:

a. Direct
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b. Control
c. Determine
d. All true

30. In the case of loose sense of synonymy, we can suggest
one of the following as synonym for the word “ripe”:

a. Mature
b. Adult
c. Perfect
d. All true
31. The kind of synonymy used by dictionary maker is:
a. The collocationally restricted

b. The loose sense

c. The different dialect
d. The different style

32. “John bought a car from Fred. Fred sold a car to John.”
Herrwe have converses antonyms in “bought and sold” ,
why?

a. Because their referents are mentioned.

b. They are not converses because “buy and sell” are binary
antonyms.

c. Because the object is the same

o

| really don’t know

33. The pair (scarlet and red ) are:
Synonyms

Antonyms

Polysemys

Hyponyms

34. The subordinate in the pair (red and scarlet) is:
70
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a. Red

b. Scarlet

c. Neither

d. | don’t really care

35, s have to decide whether a particular item is to
be handled in terms of polysemy or homonymy.

a. Learners
b. Teachers
c. The context

d. Dictionary-makers

36. (“male”, “female”, “black”, “white”). All of these words
are examples supporting .................. claim of the universality
of language.

a. The strongest claim

b. The weaker claim

c. The weakest claim
d. All false

37. What kind of explanation can we give when languages
share some semantic features like color distinction?

a. Physical reality

b. Psychological reality

c. An accident of history in languages
d. Aand C

38. Although the word “father” in all languages refers to the
physical father and is considered as a physical reality, but in
Pawnee the term that we might translate as “father” is used of
all the males from the father’s side. What explanation can we
give for this situation?

a. No explanation could be given

b. It just happened in that language.
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C.
d.

39.
the sky. Here we are describing colors by associating them
with our:

a.
b
C.
d. All false

40.

An accident of history in languages

The cultural influence

The green of living plants, the red of blood, the blue of

Cultural reality

. Psychological reality

Physical reality.

In the language of the Navaho tribe, the basic colors

“white”, “black”, “red”, “blue-green” and “yellow” are related
to the use of objects and colors used in ceremonials. Here,
what consideration took place?

a.

o o o

41.

o o o p

42.

43.

o

o o o p

The physical consideration

The psychological consideration
The cultural consideration

All true

Which of the following pairs are binary antonyms?

Same — different

Chalk- cheese

Cooper- ten

Love — hate

Which of the following pairs are binary antonyms?
Same - different

married — unmarried

Cooper- ten

Aand B

Which of the following pairs of expressions converses?
below — above

grandparent — grandchild

love — hate
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44.

45.

46.

47.

o o o p

Aand B

Which of the following pairs of expressions converses?

conceal — reveal
greater than — less than
own — belong to

all true

The pair (give and take) are not converses, why?

a. Because they are gradable

o o T ®

Because if X takes something form Y, Y necessarily gives X
the same thing.

Because if X takes something from Y, Y does not necessarily
give that thing to X

| am really don'’t care

The pair (go, come) are ............. antonymes.
Converses

Binary

Gradable

All false

Classify the following antonyms:

e easy —difficult

binary

converses

gradable
e good —bad

binary

converses

gradable
e pass - fail

binary

converses
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gradable

e husband - wife
binary

converses
gradable

e parent — offspring
binary

converses
gradable

e legal —illegal

binary
converses

gradable

48. Decide whether the following words are examples of
homonymy or polysemy and why?

e Dbark (of a dog vs. of a tree)
Homonymy
Plysemy

Because they are not obviously related to each other in any way

e fork (in aroad vs. instrument for eating)
Homonymy

Plysemy

Because the two senses are related by the concept of branching out into
different parts or pahs.

e tail (of a coat vs. of an animal)
Homonymy

Plysemy

Because the two senses have the concept of being located at the end of
something.
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e steer (to guide vs. young bull)
Homonymy
Plysemy
Because they not obviously related to each other in any way
e lip (of ajug vs. of a person)
Homonymy

Plysemy

Because the two senses have the concept of being at the edge of an
hollow opening.

49. “There is a car coming.” The utterance here is ........ if it
Is used as awarning.

implicit performative

constative utterence

50. “There is a car coming.” The utterance here is ........ if it
IS used to describe something.

implicit performative

constative utterence

51. ‘l promise to repay you tomorrow’ is
.................... because in saying it, the speaker actually does
what the utterance describes, i.e. he promises to repay the
hearer the next day. That is, the utterance both describes and
IS a promise.

Performative

constative

52. The utterance ‘John promised to repay me tomorrow’,
although it describes a promise, is not itself a promise. So
this utterance does not simultaneously do what it describes,
and is therefore............

Performative
Constative
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